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Adding & Subtracting Negative Numbers Name:

Solve each problem. Answers
1) (-459) + (-838) = .
2) 494 - (-171) = )
I (D)= .
9 (-5)+9=

4,
5 (N+ (3= ]
6) 472 -(-843) = ]
7) 943 - (-811) = ,
8 (-13)-94= .
9 (6)-1= o

100 1+ (-3) = o

H5-(9= 11,

12) 708 + (-253) = »

13) 54+ (-19) = .

14) 235-(-320) = "

) (-8)-5= 15.

16) (-61) +88= "

17) (-485) - (-445) = .

18) (-806) + 142 = "

19) 11-(-84) = N

20) (-39) - (-47) = 0
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ﬂh Adding & Subtracting Negative Numbers Name: Answer Key

Solve each problom, Answers
1) (-459) +(-838) = -1,297 . -1,297
2) 494-(-171)= 665 5 665
) (D+()=_-3 3 -3
4 (B)+9=_ 4 a. 4
O (7)+(3)=_-10 5 -10
6) 472-(-843)= 1,315 6. 1,315
7) 943-(-811)= 1,754 . 1,754
8 (13)-94=_-107 e,  -107
9 (6)-1=_ -7 9 ol
100 1+(-3)= -2 10 -2
) 5-(9=_14 n_ 14
12) 708+ (-253)= 455 2 455
13 54+ (-19)=_ 35 13 35
14) 235-(-320)= 555 u. 555
19 (-8)-5=_-13 5. -13
16) (-61)+88=_ 27 w6 27
17) (-485)- (-445)= -40 7. 40
18) (-806) +142=_ -664 18, -664
19 11-(-84)=_ 95 . 9
20) (-39)-(-47)=_ 8 20. 8
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